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5. 5m + xm + 5n + xn

ad o
29N 10 5m + xXm + 5n + xn

(5m + 5n) + (xm + xn)

5(m + n) + x(m + n)

(m + n)(5 + x)

{“\\\0\\‘

(m 4+ n)(5 +x)

o
£o
=
=
o
3
+
X
3
+
o
5
+
X
5
I

‘l!ﬂ‘ﬁ 1 Li'éN ﬂ'ﬁLLEJﬂﬁ?ﬂi“’ﬂﬂ‘U‘U'ﬂ\‘lW%u’]&lIﬂEJGI?IﬁN‘UG]ﬂﬂiLL’ilﬂLL’iN



59

WUURNTINYEIEIvIANAMIEASIINILAN YUIENSITEUT N1SHENAIUTNBUYRINYUINANTHBY

6. 8a2—a+2a3—4
3591 90 8a -a+2a -4 = (8a2 + 2a3) + (-a -4)
= 2a2(4 +a)+(-a-4)

I
|
I
|
|
i
2
= 2a(d+a)-(a+4) :
|
I
u
[
|
[
|
I

= 2a2(4 +a)-(4 +a)
- (4+a)2a-1)

AIUL 8a2 -a+ 2a3 +4 = (44 a)(2a2— 1)

e e e e e e R e e e e e e e e e e e T

1. 2pq - 2pr - 3sq + 3rs
2591 N 2pq - 2pr - 3sq + 3rs
=  (2pqg - 3sq) + (-2pr + 3rs)
= g(2p - 3s) + r(-2p + 3s)
= q(2p-3s) - r(2p - 3s)
= (2p-3s)g-r)

e e e e e e e . e e e . e e e e e e e — —
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8. 2m’ +m’n - 10 - 5n
381 210 2m’ + m’n - 10 - 5n
= (2m’+m’n) + (-10 - 5n)
m’(2 + n) + 5(-2 - n)
m’(2 + n) - 5(2 + n)

(2 + n)(m2 - 5)

fatiy om +mn-10-5n=_ (2 +n)m’-5)

e e e e e e, e e e e e e e o —e

9. 6x - 2xy2 - Ixy + 3y3

351 210 6x - 2xy° - 9xy + 3y
(6x" - 9xy) + (-2xy" + 3y°)
3x(2x - 3y) + yz(—2x + 3y)
3x(2x - 3y) - y(2x - 3y)

(2x - 3y)(3x - y')

6x2 - 2xv2 - Oxv + 3v3 (2x - 3y)(3x - vz)

a9l 1 1399 MIuendavsznauvaswiuulagldaudinisuanuas
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10.pzs + 2rs - 6rt - 3p2t

%11 1 pzs + 2rs - 6rt - 3p2t
(pzs - 3p2t) + (2rs - 6rt)
pzis - 3t) + 2r(s - 3t)

= s - 3t 2+2r
v & 2 2 2
AU ps+2rs-6rt-3pt = (s-3t)(p + 2r)

vihduldlnungfuwuuiiniinuyadnmansynd 1
lisnegrsiianlslnuay lusuuuudl 4 4 asdduneulunis
wondUsznovvesunlagldautRnisuaniasiunnsng
AU 3 sUkuuwsndnfiavieguray 151ae9u1asuiudn
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